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There are 30 questions in thfs pape? ond voy should attempt them aLL.

For eaeh question there ate 4 suggested ansare?s. Read each cpestion
catefully. Hhen you haue selected the ansuret you considet t0 be the best,
tndtcate your choice on the ans,ter sheet ptouided. Choose only one ansuer
for each question.

Yout scote for Uhis pgper uiLL depend on the totdl number Ol eortect ansuers
gi.uen.

ALL AivsfdERS PIIJST BE GIVN ON THE SPECTAL ANST/ER SHEET

This paper conEains 11 pates - TURN OVER
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1. Diges t,ion of prot,eins produces
A. alkanoic acids (fat,ty acids ).
B. nucleotides.
C. nonosaccharides.
D. amino acids .

Questions 2 and 3 refer Eo the graph shown in the diagra.u below which
shows t,he activity oOf tro enzytres uith respeck to different, values of

pH. )
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2. The enzynes P and a are respectively

P a

A Trypsin Salivary aoylase
B Tryps in Pepsin

c Pepsin Salivary aoylase
D Pepsin Rennin

3.  Enzymes P and a ¢IB respect,ively

P a
A in the stooach in the snall intestine
B in the trouth in the stomach
c in the soall int,es Eine in rhe stouach

D in the sEcjach in Ehe Eouth



Haeooglobin is responsible for the

A. ionune response Of Ehe organisa.

B. transport of oxygen t,0 the Eissues .

C. blood clot,t,ing oechaniso,

D. transporE, of cozto the t,issues .

Ttre process by which t,he blood gluccse level is noroally oaintained, is

an exanple of

A. peristalsis

B. hooologjj.

C. hooeostasis.

D. reflex action.

Eurlnﬁ_an experiuent, a p€rson breathes noroal air ajrd the raEe of
reathing IS registered Euicurve 1, showr; in the diagraa below. The

experioent iS repeated r.rsing pure oxygen and curve 2 IS obtained. a

third

experioent is perforoed using a oixture of 92 | oxygen arid | |

carbon dioxide, froo rhi.ch cur{re 3'iS obt,ained. Ttje data are shown in

the graph below.

insp i rac lons

Per

minuce

. . . - clflle

Frou thi,s infor'uat,ion it, can be deCuced thc

A. the rate of i}e%tb‘ib‘sg increases if earbon dioxide concentration
increases beyond 0.03’1.

B. the rate of breathing increases as oxygen concentration increases.

C. anincrease in carbon dioxide concenEration decreases the raEe of
breathing.

D. anincrease of | i in oxygen concenEration increases the rate of
breathing.
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Questions 7 arid 8 refer Eo the diagran of a hunan nephron, shown below.

Which subs tance iS present in structure 1 buc not, in serrcture 3 iN a
noroally functioning nepirron?

A.  water
B. urea
C. sodiujo chloride

D. Fibrinogen

In a nornally functioning nephron, glucos is

a. present, in sEggctures 1, 2 and 3 but absent in Struc:ure 7
B. absent in structures 1, 2 ajrd 3 but present in sEruciure 7
c. present, in struc Eure 7 but absent in structures 5 and 6.

D. absent in structure ; but present in strucEures 5 anci 6.
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A person whose diet is low in vita.uin D tray eventually suf fer froo

A.
B.
C.

D.

poor night vision.
decalcified bones and teech.
diarrhoea and a reduction in the nuober of red blood cells.

probleos wi th nervous coordinaEf on .

The diagfan below represents a transverse section Of fhe hunajr spinal
cord and peripheral nerves.

The nerves shorn on the diagraj ., to the tissues of the ece
represented by tro Fectangles P 4 @. Ttre double line oarked s
indiéates whére the nerve has been accidentally cut,. A possible
consequence 0 hig accident IS that,

A

B.

t,he person has feeling in his toe but cannot troveit.
the person can trove his toe but has no feeling-

if the toe is pricked witlr a pin, the toe troves but the person does
not know it IS ooving.

if the toe is pricked riEh a pin the toe does not, Eove and che
person does Not know it iS being pricked.
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11. The t,hyroid gla'd produces substances Ehat,

L2'

13.

14.

A-  regulate the activity of the adrenal corEex.

B-  function in the oetaboriso of sodiun ions.

c. stioulace the production of the horioones , FSH and LH.
D. regulate cellular aetabolistr.

The hydrolysis of an or?anic norecule produces phosphates, pentoses

aienine, cyt,osine, uracil and guanine aolecules. Thg. organic' odlecul.e
is likely Eo be

A. DNA
B. RNA
C. ATP.
D. nNapP

Lrergy is released when

A.  ADP coobines Uuith inorganic phosphale to foro atp.

B. ATP releases inorganic phosphate to foro app.

C. ajolecule tains a hydro3en ion.

D. aoolecule tains a phosphate group.

Khich one of the following occurs during the light dependent reacEion
of phot,osynthesis?

A. AT?, co2 and H20 are produced.

B. co2is coubined tJith ocher aolecules

C. Atp. tl. and 02 are produced.
D

Carbohydrare”. iloto" and proteins are roduced.
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The followIng graphs refer to experiments in photosynthesis.

iC

pilocosvncher ic
ac¢i.vicv I

hi gh
lighc incensicv CO0, available

Frou the data riven in the rraphs it can be deduced that

A. at low light intensities photosynthetic acEivity is lioited by rhe
speed at, which uater uolecules spliE.

B. at low concentrations of co, a rise in Eenperature rill not affect
the photosynthetic actlvity.

C. teuperature and light alje the only factors which influence
photosynthetf ¢ activiEy.

D. if light intensity is a greater rare of
photosVnt\gis ar, higher rhan ar loOer EeBperaEures.

Ttre salt concentration inside an aniual cell is 0.9 1. Thesale

concentration in the surrounding uediun iS 10 f. In such a si tuacion
the cell is oost likely to

A.
B.
C.

D.

shrink.

gain salt fron the nediuo.
reuain unchanged.

gain water froo the sgsfr,m .
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17+ Hor oany differenE cooblnaEigns of chrooosooes are possible in the gaoeEe
of an organiso with fo'ur pairs of chrooosooes?

A. q

B.
C. t6
D. =

Questions 18 and 19 refer to the diagra.os shown below.

Diagran X represenLs the nucleus of a cell dividing into two cells
P alnld ?I'I Diagran Y shors 4 different types of nucleus labelled
I | I and IV.

Diagram-,@la

Diagram v

18. If cells P ajid § re speroatids their cf"onosoaes are represented by
the Eype Of nucleus labelled

A
B. |l
C. 1
D. v



19.

20.

2L.

22 .
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If cells P ajid a are neurones their chrooosotres are represented by the
type of nucleus labelled

A

B. 1l
C. 1l
D. v

An especially large nuaber of nitochondria are Eo be found in
A. erythrocytes.

B. epidernal skin cells.

C. bone cells.

D. nuscle cells .

t{hat is Ehe probability that a fajily of four children wlll consist of
four girls?

A U4
B. Lz
C. o/Ls
D. s

tLhich of the follouing ganetes rill  be produced by an individual with
the genotype SSTt?

A. tsandT
B. STandS
C. ST, SS,SE, e
D. SS,TE, TT, (T
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23. In coEparison wilh asexual reproductlion. rahich of the folloning

stateEents Is ari iaporEarit advarEage Of serual reproducEion? Sexual-
reproducEion

A. ensures Ehe surrival of the specles.
B. produces a greatea nuober of offspring.
C. increases variaiion in the species.
D. perpetuates paren¢al genot)?es.
24. t{hich one of the folloeing stateEents provides evidence that evolution
could still  be occurring at, the present tiDe?
A. Ttiere are uany natural barriers that caulre lhe Isolation of species.
B. Many bi.rds jake ajujual oigraBlons.
C. Ttrere are no placenlal jjaj¢fs orfgineling In Australia.
D. Neu varieties of cojn plants cari be obtalned by selective breeding.
25. For thirty a"n""rron" the tails of ner born lice are recoved at birth
and the_olce allored !o reproduce at Daturity. The oost pr.obable result,
afEer five further generations uould be thac
A. all the oice uill be borrj uithout a tail.
B. all the jice will be borrj uith I tail.
C. sone of the Uice 1111 be bora rithout a t811.
D

a ner species of jouse rfll  develop.
26. All of Ene orgajrisEs living in ajrd on a fog coufa best be described as
a.'

A. crioatic tJx.
B. couuunity.
C. ecological niche.

D, population.
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27- The presence Of certain prot,ozoa in the alinentary canal of termi Ees

prevents Ehen froo dying troo s Earvation. This relat,ionship is an
exanple of

28.

29.

30.

A.

B
C.
D

contrensalisn.
parasitisa.
syubiosis (nutualisn) .

predation.

tlhich one of the following statetrents defines a population?

A

B.

C.

All the individuals of the satre species at a given tine.
All the individuals living in the satre place at, a given t,ioe.

All the individuals of the sa.Be species living in the satre area at,
a given tioe

All the organisos living in the saoe ecological niche.

Two heal Ehy adul t, aniaals , one aale ajrd one feuale r are observed in a
given environoent. If they are of the satre species they

A.

B
C.
D

oust be of very sioilar appearajrce when adults.
live together without, cotrpet,ition.
oust occupy the sarje ecological niche.

are incapable of producing fertile offspring.

I{hich'one_of the following phenooena cannot affect the ajourE Of nit,rogen
in the aEoospn§,

A.

B
C.
D

The activity of bacteria in leguoinous root nodules
The fernentation of sugar by bacteria
Electric discharges during a lightning stortr

Ttre act,ivity of denit,rifying bacteria in soil



